Name ______________________________

Partner _____________________________
Class _____
In #1-13, use http://www.regentsprep.org/regents/math/algebra/ap3/LFunction.htm or  http://www.purplemath.com/modules/fcns2.htm or http://www.purplemath.com/modules/fcns.htm.
A. Defining Functions 
1. What is a relation?

2. What is a function?

3. Domain refers to the _____________ values of a function.  These are the (circle one): inputs/outputs.  Use set notation to list the domain values in: (1, 2), (-3, 6), (4, 1), (0, 0)
4. Range refers to the _____________ values of a function.  These are the (circle one): inputs/outputs.  Use set notation to list the range values in: (1, 2), (-3, 6), (4, 1), (0, 0)
5. Give an example of a function.  
6. Give an example that is NOT a function.

STOP!  Complete check-in #1, then show your teacher your answers before moving on.
1.   2.  3.  
B. Parts of Functions
7.  Functions have a “one-to-one” relationship.  This means that for every one input value there is ______________ output value(s).
8. The vertical line test proves that a graph is a function.  A graph passes the test if you draw a vertical line anywhere, and it passes through _____________ point(s) on the graph.
9. Is a straight line always a function?  Explain your reasoning.

10.  Is a parabola (U-shape) ever a function?  Explain your reasoning.

11. In function notation, “f(x)” means “function of x.”  
a. Do you think x represents the input values or output values?
b. This set of values represents the _____________________ of the function.
12. The answers you get after substituting x in the equation are the (circle one) inputs/outputs.  This set of values creates the ________________________ of the function. 
STOP!  Please complete assessment questions #1-5.  Check with your teacher before moving on.
1. ______    2.  ______
3.  ______
4.  ______
5.  _______

C.  Evaluating Functions - You evaluate f(x) = 2x just like y = 2x. 
Given f(x) = 3x – 1, here is how to find f(2).

f(2) = 3(2) – 1

Substitute 2 in place of x

f(2) = 6 – 1

Follow order of operations and multiply first

f(2) = 5

Subtract to find the answer.

So… the solution is f(2) = 5.  This means (2, 5) will be on the graph for this function.
13. Complete the 5 “practice problems” below.  Be sure to number them and show your work on this paper.  Then, check your answers with a partner.  

Find f(-2), f(0), f(5) for each:

a. f(x) = -2x

f(-2) = 

f(0) = 

f(5) = 
b. f(x) = 5x² + 3
f(-2) = 

f(0) =

f(5) = 
c. f(x) = |2x – 1|

f(-2) = 

f(0) =

f(5) = 
d. f(x) = (x + 1)²
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f(-2) = 


f(0) =



f(5) = 

Domain: {                    }





Range:   {                     }








